THSEEAVCSERRBEAR—VE BELEHBRK

ﬁJiEI 20236 H4H shoRk_ EE
oy L sl NG FFRB—E
[H H 112 20% 30 4% 5T% 3653 253 817
6/04 BFA 100 24 154 11719|aTE B 11731|{E & Rigth 117394k &K 11742|[RE Ki# 12709|ith £ AT 12749| B H HE 12”51
m
-0.6 Eigh INBATH R iZER HE fF T HEIMEE ZUD BE
6/04 200 M & 23732|%E@ BF 23758|1E % —tiﬁé’ 24739[MH — & 27751 . AU B
m
-25 _ BT , HEFER 3iE iF] 1 HEg
6/04 1500 B s 409749|EHE =5t 4107255 ZM[E 410766| 5 /NREE 4M7703[RE =A #30717[AL0 EF 4'33769]]I[#% EZEFE 4357513k A 436702
m
FE i T _ BNy il =i AR H M B EIFEER JLEEEER RiZE
6/08 5000 #wmA Em 16'01721|EH 1620731 (2L Rl 1633 50| B E & 1703739 FF FK 1714702 HFEAB 1737 70|28 ==& 19007 06|18 &4 2033783
m
FERE INBATH = il firl HEEEER b3 RS iE i
E¥B EARmEXER 11754 B78 Kt 11759|8% % FX 12713 L A = L
oo "N SE@ o B
-1.0 i = e
HE B 25778 &
6/04 200m
-2.7 FEEIFEED
6/04 1500 EX B 413729[HE & 414755|20 & 4167 11[BE =K 423792|HA M= 443796
m
_ mEmEm 7 EIAFER AU _ EIAT il
6/04 5000 Bl Eth 1604 71|AA BXF 16'14747| Bt BARE 1644716\ Al =4 1744708| = 1%t 19157195/ Mg 2017755
m
FEEIFEER B [ =l ok 1173 Ri%
H¥C Kb BE IESE A E ] 13704 & . D Al
6/04 100m i -
-0.4 RiZ
B E s =
6/04 200m
-2.7 i ,
MR Ft 415733 KA =3¢ 424793[R  B= 426794[fEH & 4317060 Bl 438744 kR BT 446745 K BX 50716
6/04 1500m - REM a - i
B I B iaER R B[ Edib it ZUDH
6/04 5000 AR Bt 15567282l =& 16'22708|& P= 16'27796| B ILZEKER 16'54703| R+ HBE . 1656 55| @ & & 17°00793[ILA #XER 1740770[F X 2 18'23708
m
BEm = i) I H firl Elhi BREH =
6/04 BFD 100 HiEF Zt 1271916 #B— 12776|H0H iE— 12792118 &= 13756| 5 /R Ei& . 13796 HHE EiA
m
-2.4 RIS R b1 ¥ =i B
HFf ZEth 25734 R Za 29709 =
6/04 200m - —_—
-2.8 Bi5
o/04 1500 FH sE— 429751 E% #%t 439747 5E Bt 44376 7[;LIIEA—ER 444776
m
- =1 i) _ REESEAR BT B
o/04 4000 AE 2 930754[I0A&  &e 9367 92| R E —E 947783|[=%F%F = 954730| 5 E Et 1003770 EEF A% 1006729728 #& 1009738[F =7 1011787
m
ZU D FEEIFEED Ll FE [ B HE
BFE Bl X 12712 FH %2 13734 ﬁiuﬁt—%@ 14728 i3 EpRi DT HEH
6/04 100m - - -
-0.4 = RS
FNIT] E_ﬂﬁg 25711 FH 252 28730
6/04 200m
-3.0 =i B I V=]
6/04 1500 RHE Rt 4247882 FH F— 446766278 = F47T7T1[FAG RA 4'54732[/KHT E= 455743[/1NsF [H— 6’06793
m
REHIEER ﬁEI#FEB B [ Sk JbEE IR AR RiZE
o/04 5000 HE JE 9347 24BE T 936 41| — R Bem 948736| 218 B - 1018747 FR&ZABA 1023705|F#} JE— 1036760| 55 ZHHA 1045701P5 H fRsk 1046787
m
FEfE T FEIFEED RiZEB HR ZUDH =1 ki FEfE HEEIFERD

1/6



THSEEAVCSERRBEAR—VE BELEHBRK

iHEl 202346 A 4H Shopk__BE
B eis B OHHEE A E FTREBE—R
[H H 112 20% 3fL I 4% I 5T% 3653 253 817
BFF L& EH# 13725
6/04 100m
-1.5 b %l
Lt Fit 27723 F & B 28784
6/04 200m - -
-1.8 ﬁ]} =13
HE BY 4287215 %E =kt 436"08|AE R— 439701 K10 F= 4577308 F #— 538739
6/04 1500m AL i KL
EAT ot 1t VS INETH 7 £ it
6/08 2000 wmH EE 9}’21;; AAR W 1000703 E Rl 1012757 &=l 102579 KR @ 10277661 & 1033733 R E JE— 1050732[fA%E &3k 1057709
m =
=1 il b1 ¥ JLEE 2R HEFE T =1 il A B [Eh B R
EAS B 3758|1810 &— 147 18|[@E %8k 15776 = L
6/04 100m
—0.6 =g FAER T BEgh
EH ik 32761 [ LLAIE—ER 38792
6/04 200m
-1.7 HEh I [ T
Bk B&— 532718 RE EE 612757
6/04 1500m
S [iF]) T =1 ki
EE FOE] 1113771| K& 1EMH 1116736l Z=EA 1152754
6/04 3000m
MR = il HEER
BFH il B— 13785
6/04 100m
-1.3 FE fE T
Bl A= 31751|[fER AR A] 32775
6/04 200m
-1.8 [ ik i
V82 NERE 4517 T BARSEHR 513779|fB 2 & 526" 401K X A& 7] 542705[f2 2 ML 544 79[ HE R 548728
6/04 1500m AL
INEATH _ RiZE =l ik il R BRI
BFI EH R 17728
6/04 100m
-1.3 INBATH
6/04 1500 FE Xfz 5'27°06| &Il {517 547766[min  Ia 549”35 B MAE 555730 N EEEX 501728
m
=1 il . JEHEA Eg EI#FER HEFE T INBATH
6/04 BFJ 100 BE EE 14787(feH #& 14799/ FRE 17707[% A== 38747
m
-08| _  FEIMER R H HEER ik
&% BIA 5'54725| EARIER 6297 17|mK =— 6317 74|FHE AL 646”32
6/04 1500m - . "
HR #B Yzl FE [
604 BF¥K 100 B EifE 15748lLO0 & 16700 HEEZEE 17715|Hm s 18738
m
-1.4] _ #ETS _ _ E BT _ FaEFEER RS
St 617 33| EEALEIT 753781
6/04 1500m _—
EREIHFER ]
6/04 BHFL 100 Ex = 17773 ER% BB 19766| ER BEE 19766[[EE =|_— 22773
m
-0.9 BEgh NSl FEfE T A
6/04 1500 g FE 719730 &% ¥ 735770|FT L RFE 814794}/ IE 11297980 % &Rk 1132776
m
] ZUOM INBATH N FE R T B@Eh
HBEF SERET 43796|HET _ 46714| &[T 53784|EEIFT AR 101707
£k & iR BA ohill E# £ B8
6/04 4x100mR| {k@E EHIZ T J='JEI Al E# WWE —
2R BHE — LA $RER (177 S
I AEE =K r‘m‘ A+ BE B 2

2/6



%*ﬂSEFé%é%EE%@ —U BELFER
H: 20236 H4H A%
BG4 HOEENE %?'kﬂﬁ
[E B ko3 261 30 4fL 561 61 1fz 8L
BFA ELECLE 6m63| 115 AHH 6m25|fAKk EK 6m16|H%L FI#E 6m05|EH & 5m79
6/04 E Mg Bk +1.4 +15 +1.9 +2.0 +0.9
BEM R T IR ZUDh B E
BO &5 12m54| 2R X 10m18
6/04 | Fa#L$%(6.0kg)
= HEIEED
BO &5 36mo4[HEE — 5 3Bm51 [T 2A— 22m01
6/04 | FfE#%(1.5ke)
=N ki) REIEED FER T
5¥B EP NI N: TmO1|BE HK 5m13| KM A0 4m94
6/04 E Mg Bk +1.2 +2.6 +0.7
HEH AEH| FEEIFEED =I5
Wit Bt 11m47|ER  #8 10m68
6/04 | FafL$%(6.0kg)
R FEEIHFER
Wt Bt RN Z 31m80
6/04 | FfE#%(1.5ke) K=
Rk FEEIFFED
BE¥C HE &A 13m24[C K 1R 10m77
6/04 | FastL%(6.0kg) REH
T BRI
BE &=A 34m83|[IZ K @R 34m12
6/04 | FI#&¥%(1.5ke)
R T
BFD ME mE 5ma5|HIE 5— 4m91
6/04 ENEBE +0.0 e +17
M =— 13m00|/M1T 8= 10ma5| B B 9m90
6/04 | FafL$%(4.0kg) - e AEt
REE—H 33m81 [ B2 30m68|EF B 23m13
6/04 | FfE#%(1.0kg)
AT = i) BEgh
BFE K E=E— 3m58
6/04 ENEBk +1.8
R i}
X =E— 12m33[EE RIE 8m93[ ATl —ER 8m74|#EE KR Tm94
6/04 | FafL$%(4.0kg) ‘
Api = ol RiZEB B
BFE RIS 25m74| B E T KRER 24m65
6/04 | FfE#%(1.0kg)
= i) B
BHF¥F KO &EfT am25|#IE  F 2m81
6/04 E Mg Bk +15 +1.0
=1 FEFE T
WE HE 29mO5| A F0iE 24m51
6/04 | FI#&¥%(1.0kg)
%ﬁaﬁ = i)
B+¥G &l F— 4m76
6/04 E Mg Bk - +38
*EW%E%—EE Tm42
6/04 | FAALIR(2.7ke)
AR _Eu%‘ﬁﬁ
EIE K 32m27|#xT & 31m24
6/04 | FfHE#%(1.0kg)
__ #mh gwﬁﬁi
BEFH _ |A® BR 3m81|FIL #& 3m80|BF H ILFN=E 3m71
6/04 E g Bk +1.8 +2.3 +18
BEH R T P

3/6




%*ﬂSfﬁFg%é%h—E%"Axﬂ'\ IS LR
H: 20236 H4H A%
Bt B OHEHAE HF R
[H H 112 20% 30 4% 5T% 3653 253 817
BFH BHE BFE 13m93|JIl#& &7 13m84| 2K Eif 12m03|BA R LLFNsE 10m97|/NE FhBH 9m75
6/04 | FaMLi%(2.7ke) - Ei - - -
=B if] ﬁS
B B 36m20|J1[#& &3] 2Tm09|EXR EiE 26m07|/NE 8ALBH 23m09
6/04 | FI#&¥%(1.0kg)
=N ki) R ict: il B
fep x— 2m54
6/04 E Mg Bk +15
B E
g 2 6m71
6/04 | FaMLi%(2.7ke) .
EE3E 4m05|f2E & 3m90[RE I 1m89
6/04 E Mg Bk +0.9 +1.2 +1.3
T il
TE =8 10m47|BEm B 9m83|RER &4 Om66| =ik X 7m80
6/04 | FaMLi%(2.7ke) . Efi T T
2 =5 e
N FREE 21m85B R =.Aa 19m76|=E X 18m72 E_ 18m28|FE B 17m34[BEIR  BLER 13m94
6/04 | FI#&1%(1.0kg) .
EE = il b1 ¥ ok 4] REE
BHF RA 3mY9|(REXZEE 3m30
6/04 E Mg Bk +2.2 +2.0
B EEM __
BHF Ra 11m46| M8 aia 8mY4|SELLETT 6m97
6/04 | FaMLi%(2.7ke) a - —
]
A AR 21m10
6/04 | FI#&¥%(1.0kg)
b4l
BE £Z 2m60
6/04 E Mg Bk +2.1
_ERI T
T & Tm49|E ik FE 6m36| Ei&E IFFB 5m81|{EE EH 5m71
6/04 | FaMLi%(2.7ke)
BEH VAT BT FERE
TRy 16m61|JI|O ¥— 10m74
6/04 | FI#&¥%(1.0kg)
B FEFR T
BFAC XE B 2m05| B e A— 1m70[Ff 0 EX 1m50
6/04 E= Bk — -
"'"5 if]
BEFDL HEE—H Tm82[/MIT 8= 1m55
6/04 E= Bk
AT = i)
Hwesa = EhH 222 5 |3ERE T 202 5 | &R 159m AR 128 = |BREIFFED 84 = |/MHRTH 5459
(b9 =g 118 |FEM T 111 8 [ER T 745 | BREIFED 53m (BT 510 |RGER 478
(24=IF) F&TH 1045 | R 91 5 |ERI T 854 |BET™ 77| REE 31 |FEEIFFER 2058

4/6




THSEEAVCSERRBEAR—VE BELEHBRK

EAH: 202346 H4H

BHEA5E HOH AR
jg.aﬁ E[0Y; L§JJJ_\IHﬁ

TFREBE—E

2{iL 3L 441 | 5 61 7L 8L
TFA TE W 137665 1B &2 % 13785|8E XIR 14705
6/04 100m
-0.5 3 [iE] T = i) VAT
BA EH 29768
6/04 200m
-1.2 FEfE T
RiFE & 501769
6/04 1500m i K=
RIRE § 1105”744
6/04 3000m -
Z¥B TR I¥£ 16743
6/04 100m
-0.5 %Eﬁl_%ﬂ
JIl#E B 35700
6/04 200m
-1.2 HE
=ES :FE% 1256737|all E& 19'09”30
6/04 3000m
_ it i) BRI
ZFC EK ERR 14789
6/04 100m
~0.5[ =N ki)
EK ERS 30755
6/04 200m
-1.2 =1l
BHE T 11'56776
6/04 3000m
T
XFD FARFRFEF 540750 B2 R 5'48702
6/04 1500m
BT _ RiZEB
FARFRFEF 12'15700| =& Fmfc 12'32753
6/04 3000m
Rk FEFR T
XFE P ARET 15713
6/04 100m
-0.5 ER
kot EXK 30783
6/04 200m
-1.2 _ T
EE CRF 1245768 F R &% 15'01786
6/04 3000m i
%EEEEB _ HEIFEED
ZFF Bl E=F 21742
6/04 100m
-0.4 FE [ T
EEABE 549768|1&IL =F 817779
6/04 1500m K&
BT FEFR T
ZFG ERRESR 624783
6/04 1500m
ik il
ZFH % = 17740
6/04 100m
-0.4 HEh
e w3 733708
6/04 1500m
FHEIHEED

5/6




SHSEEHPIEERBERR—YER BELEE
EAH: 202346 H4H

BHEA5E HOH AR
jg.aﬁ E[0Y; L§JJJ_\IHﬁ

TFREBE—E

PXiv 3L | AL | 5{u 61 1 8L
KFI MEXRMF 16"73|BlF EF 20719
6/04 100m K&
-0.4 =y JLEEIR AR
BB E¥ 7157 12|F% \UF 749771
6/04 1500m i
JeEE ""'%Illﬁ?ﬁ
FA NG ERES: 5m00|F/ITER & 4m88|FE WE 4m74
6/04 E Mg Bk +2.4 +3.7 +2.5
Y5l = il FERE
FEuTFE 12m95(ARB = TmI5|EAAB S Tm73[#AEH B 6m92
6/04 | FaALI%(4.0kg) REH
BEH REIEED BT HEFE T
Z¥B AR FAERIK 9m15
6/04 | FAALIR(2.7ke)
T
ZFD ESEEEES 10mi5
6/04 | FaMLi%(2.7ke) -
ZFE FA=" §§ Tm65
6/04 | FAALIR(2.7ke) -
XH FF 3m06
6/04 E Mg Bk a +1.6
XH FF 6m00
6/04 | FAALIR(2.7ke)
B
FH NEREES 3m29
6/04 E Mg Bk +2.6
B
ZFI EHDPHF 2m91
6/04 ENEBE e +2.1
EH IBEF 6mo3[iEEE = 5m97
6/04 | FAALIR(2.7ke) ]
=N ki) HEHIEE
Hwesa I H 53 & | EEFE 528 | B AT 504 (BT 405 |REEIRER 334 |FEER T 2155
(F79%) AR 22| EiEH 384 | R 38 [EREHIRER 215 (P AR 14| B@E™ 1258
(24=IF) BEm 28 = | EEFE T 1408 | BT 125 |FRERER 125 | &R 15| FE&R T 18

6/6




